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1 2019.01.02 REECE 7Hol - — —
- - - S ol
2 2019.01.09 SRR 7Hol EXX HXHS A3 20,000
= o - - - - 2xx HXE= =
3 2019.01.09 HXH=2 7Hol =) cT o 10,000
— = - - - - Sxx HX|H=Q2
4 2019.01.09 HXH=Q2 7Hol =) cT o 10,000
— = - - - - Sxx HX| =22
5 2019.01.10 HXH=Q2 JHol : = ;T._:. 10,000
— - - _ _50
6 2019.01.11 MREECE! 7Hol |xx HIZ| S = 10,000
— - - - _ _50
7 2019.01.21 MREECE! 7Hol Olxx HIZ| S = 10,000
— - - - _ _50
8 2019.01.24 MREECE! 7Hol Olxx HIZ| S = 10,000
— = _ ‘ . - Mxx HXH=z=Z
9 2019.01.28 HXHS 2 IR : — ;f..:. 20,000
[ - - - SO
10 2019.01.28 HX| M2 7Hol 7E:xx HIXI =2 50,000
— - - - _ _50
11 2019.01.28 RNEECE 7Hol LXx HIX|E= 25 10,000
N = - - - - Hhyx HX RS2
12 2019.01.28 HXH=Q2 7Hol cT o 10,000
— — - - - - Mxx N
13 2019.01.28 HX| M= 7Hol c:T_:. 10,000
— - - - - __I‘_ ?'50
14 2019.01.29 HXHS S 7Hol ;xx HXHE A 50,000
— - - - _ =)
15 2019.01.30 MREECE 7ol 2IXX HXE=8= 20,000
— - - - _ =)
16 2019.01.30 HA == 7ol Olxx HIXZ2 RS 30,000
— _60
17 | 2019.0207 HAE=S2 7ol HAS=da 30,000
— _60
18 2019.02.11 REECE 7Hol HX 8= @5 20,000
— _60
19 2019.02.11 REECE 7Hol HX 8285 10,000
— _60
20 2019.02.11 REECE 7Hol HX 8285 10,000
— _60
21 2019.02.11 REECE 7Hol HX 8285 10,000
— _60
22 2019.02.11 REECE 7Hol HX 8285 10,000
— _60
23 | 2019.02.20 REEEE! 7ol BIXIS= s 10,000
— _Cn)_o
24 | 2019.02.25 HA RSS2 7ol HAS=da 10,000
— _Cn)_o
25 | 2019.02.25 REERE! 7ol HIXIS= s 20,000
— _Cn)_o
26 | 2019.02.27 HAESS= 7ol HAS=da 20,000
— _Cn)_o
27 2019.02.27 TREECE 7Hol HX 8285 10,000
— _Cn)_o
28 | 2019.02.27 REERE! 7ol HIXBedE 10,000
HXIEZ= = 10,000




29 2019.02.27 HIX|E2 = 742l HXEZ= A= 50,000
30 2019.02.28 HIX|E2 = 742l HXEZ= A= 50,000
31 2019.03.04 HXE=2 Jhel HIXE=dF 20,000
32 2019.03.04 HXE=2 Jhel HIXE=dF 30,000
33 2019.03.04 HXE=2 Jhel HIXE=dF 30,000
34 2019.03.07 HXE=2 Jhel HIXE=dF 10,000
35 2019.03.07 HXE=2 Jpel HIXE=dF 10,000
36 2019.03.07 HXE=2 Jpel HIXE=dF 10,000
37 2019.03.11 HXE=2 Jpel HIXE=dF 10,000
38 2019.03.11 HXE=2 Jpel HIXE=dF 10,000
39 2019.03.12 XNYzez Jpel BRIt F S AL 100,000
40 2019.03.12 NE8zda 742l EXIN 7SS AE 100,000
41 2019.03.18 NE8zda 742l EXIN 7t S-S AE 100,000
42 2019.03.18 NE8zda 742l EXIN 7t S-S AE 100,000
43 2019.03.19 NE8zda 742l EXIN 7t S-S AE 100,000
44 2019.03.19 NE8zda 742l EXIN 7t S-S AE 100,000
45 2019.03.19 NE8zda 742l EXIN 7t S-S AE 100,000
46 2019.03.20 NE8zda 742l EXIN 7t S-S AE 100,000
47 2019.03.20 HIX|E2 = 742l HXIE= = 10,000
48 2019.03.22 NE8zda 742l EXIN 7t S-S AE 100,000
49 2019.03.23 HIX|E2 = 742l HXIE= = 20,000
50 2019.03.24 NE2d= - A HS - AN 2B A2 702
51 2019.03.24 NE=z8= - EXINIIE S AT 588
52 2019.03.24 XNE=d= 7h ¢l EXINIIE S AT 100,000
53 2019.03.25 HXE= A= 7h ¢l HXIE= = 20,000
54 2019.03.25 XNE=d= 7h ¢l EXINIIE S AT 50,000
55 2019.03.27 HXE= A= 7h ¢l HXIE= = 10,000
56 2019.03.27 HXE= A= 7h ¢l HXIE= = 10,000
57 2019.03.27 HXE= A= 7h ¢l HXIE= = 50,000
58 2019.03.27 XNE=d= 7h ¢l EXINIIE S AT 100,000
59 2019.03.27 XNE=d= 7h ¢l EXINIIE S AT 100,000
60 2019.03.28 HXH= A= 7h ¢l HXIE= = 50,000
61 2019.03.30 XNE=d= 7h @l EXINIIE S AT 100,000
62 2019.03.31 XNEzea 7h @l EXINIIE S AT 100,000
63 2019.04.01 HXEZAd= 7h @l HXIEZ= = 30,000
64 2019.04.01 HXEZAd= 7h @l HXIEZ= = 30,000
65 2019.04.01 HXEZAd= 7h @l HXIEZ= = 20,000
66 2019.04.03 XNE=d= SAFT- MU LHHLEN 500,000




NE8zda 742l EXIIN 7SS AE 100,000
HXHZAZ 742l HXEZ= A= 10,000
HIXEZ 719l HIXE=dF 10,000
HIXEZ 719l HIXE=dF 10,000
HIXEZ 719l HIXE=dF 10,000
HIXEZ 719l HIXE=dF 10,000
XNE2 = 719l BRIt E S AL 100,000
XNE2 = Jpel Zxx BRIt E S AL 100,000
HIXEZ /= 719l O|xx HXE=d2 10,000
HIXEZ /= 719l Alxx HXE=d2 20,000
HIXEZ /= 719l Qxx HXE=d2 20,000
HIXE= 719l Zxx HXE=d2 50,000
HXH= = k! Lxx HIX|E=2 =3 10,000
HXH= = k! Bhxx HIX|E=2 =3 10,000
HXH= = k! EXX HIX|E=2 =3 50,000
HXH= = k! HXE= = 30,000
HXH= = k! HXIE= = 30,000
HXH= = k! HXIE= = 20,000
HIXE2 7h @l HIXE=Z 10,000
HIXE2 7h @l HIXE=Z 10,000
HIXE2 7h @l HIXE=Z 10,000
HXH= = k! HXIE= = 10,000
XNE=d= k! EXIN7HF-S A 100,000
XNE=d= k! EXNIIE S A 100,000
HXE= A= k! HXIE= = 10,000
XNE=d= EHA| At B EoEEEALY 10,000,000
XNE=d= SoAZ- MM AFZE M 500,000
HXE= A= k! HXIE= = 10,000
HXE= A= k! HXIE= = 20,000
HXE= A= k! HXIE= = 20,000
HXE= A= k! HXIE= = 50,000
HXH= A= k! HXIE= = 10,000
HXEZ A= k! HXIE= = 10,000
HXEZ A= k! HXIE= = 50,000
HXEZAd= k! HXIEZ= = 30,000
HXEZAd= k! HXIEZ= = 20,000
HXEZAd= k! HXIEZ= = 10,000
HXIEZd= 74l HXIEZ= = 10,000




105 2019.06.07 HXHZAZ 72l Zxx HXEZ= A= 10,000
106 2019.06.10 NEEd= 72l B yx BRINIIE S AT 100,000
107 2019.06.10 HIXEZ 7h @l Olxx HIXE=dF 10,000
108 2019.06.11 XNE2e= Z|xx RS AT MY LR 2 A2 500,000
109 2019.06.11 HIXEZ 7h @l Olxx HIXE=dF 10,000
110 2019.06.17 NEEd= ik Hxx EXIIN 7SS AE 100,000
111 2019.06.18 NE2)= ik | xx ERINIIE S AL 100,000
112 2019.06.19 XNE2 = 7h @l Hxx EX|74 74 F S AP 100,000
113 2019.06.19 XNE2 = 7h @l Alxx BRIt E S AL 100,000
114 2019.06.19 XNE2 = 7h @l O|xx EX|74 74 F S AP 100,000
115 2019.06.19 XNE2 = 7h @l XX BRIt F S AL 100,000
116 2019.06.19 XNE2e= 7h @l Zxx BRIt E S AL 100,000
117 2019.06.19 NE2d= k! Zxx ERINIIE S AT 100,000
118 2019.06.20 NE2d= k! Axx EXIN 7t S-S AE 100,000
119 2019.06.20 NE2d= k! O|xx ERINIIE S AT 100,000
120 2019.06.20 HXH= = k! 0|xx HXE= = 10,000
121 2019.06.23 NE8zda - Ol xxx ANE2dT- MY ZEE A2 453
122 2019.06.23 NE=ea - Ol xxx RESU NN LBULENT HREZBA 916
123 2019.06.23 HXH= = - Off xxx HXIE= = 1,134
124 2019.06.23 XNE2e= - Olxxx | Az AZ-oR2AASA 2B A 970
125 2019.06.23 NE2d= - Ol xxx NEzda-d5332a2 120
126 2019.06.23 AE=d5 . Olxxx | "=sea«racunas shTagae 428
127 2019.06.23 XNEz = - Oll xxx EXINIIE S AT 923
128 2019.06.24 HIZ|ES/F k! 2lxx HIZE=-)F 20,000
129 2019.06.26 HXHZHa 7h @l Axx HXHE A 20,000
130 2019.06.27 HXHZHa 7h @l Zxx HXHE A 10,000
131 2019.06.27 HIZ|ES/F 7h @l Bhxx HIZE=-)F 10,000
132 2019.06.27 HIZ|ES/F 7h ¢l XX HIZE=-)F 50,000
133 2019.06.28 HIZ|ES/F k! AUxx HIZE=-)F 50,000
134 2019.07.01 HIZ|ES/F 7h @l 0|xx HIZE=-)F 30,000
135 2019.07.01 HXHZHa 7h @l Zxx HXHE A 20,000
136 2019.07.08 HXHZHa 712l Zxx HXHE A 10,000
137 2019.07.08 HIZX|E2/F 7h ¢l Zxx HXE=JF 10,000
138 2019.07.08 HXEZ g 712l Zxx HIXIEZ@a 10,000
139 2019.07.10 HXEZda 712l Olxx HIXIEZ @S 10,000
140 2019.07.11 XNE=d= &|xx e S MY LR 2 A B 500,000
141 2019.07.11 HIZ|E=/F 7h ¢l O]xx HZXE=-]F 10,000
142 2019.07.22 HIXE=-)F i Olxx HZXE=-]F 10,000




143 2019.07.23 NE== CHA| - - - - Bxooxx | K EZ LS -CHESISANH 5,000,000
144 2019.07.24 HIX|E2 = 742l - - - - Mxx HXE2 = 20,000
145 2019.07.25 HXE2 = 742l - - - - xx HXE2 = 20,000
146 2019.07.29 HXE2 = 742l - - - - Lxx HXE2 = 50,000
147 2019.07.29 HXE2 = 742l - - - - Lxx HXE2 = 10,000
148 2019.07.29 HXEZ= A= 7h ol - - - - Hhyx HIXE=dF 10,000
149 2019.07.29 HXEZ= A= il - - - - XX HIXE=dF 50,000
150 2019.07.31 HXEZ= A= il - - - - O|xx HIXE=dF 30,000
151 2019.08.02 HXEZ= A= il - - - - AUxx HIXIEZ 2 20,000
152 2019.08.06 NE== EHA| - - - - Shoxxx | AIEZ S-S AKX FALY 4,800,000
153 2019.08.07 HXEZ= A= il - - - - Sxx HIXE=dF 10,000
154 2019.08.07 HXEZ= A= 7l - - - - Sxx HXE=dF 10,000
155 2019.08.07 HXH= = k! - - - - 2xx HXE= = 10,000
156 2019.08.08 HXH= = 742l - - - - Bhxx HXE= = 43,850
157 2019.08.12 NESE=E = - - - - &|xx KHEAZ- MY 2zt Af 2t 500,000
158 2019.08.12 HXH= = 742l - - - - 0|xx HXE= = 10,000
159 2019.08.12 HXH= = 742l - - - - 0|xx HXIE= = 10,000
160 2019.08.20 HXH= = 742l - - - - 0|xx HXIE= = 10,000
161 2019.08.22 HXH= = 742l - - - - 2lxx HXIE= = 20,000
162 2019.08.26 HIX|E2 = 742l - - - - Mxx HIX|E2 a3 20,000
163 2019.08.28 HXH= = 742l - - - - AUxx HXIE= = 50,000
164 2019.08.28 HXH= = 742l - - - - AUxx HXIE= = 10,000
165 2019.08.28 HXE= A= 7h @l - - - - Bhxx HXIE= = 10,000
166 2019.08.28 HXE= A= k! - - - - SXX HXIE= = 50,000
167 2019.08.30 HXE= A= 7h @l - - - - 0|xx HXIE= = 30,000
168 2019.09.02 HXE= A= k! - - - - AUxx HXIE= = 20,000
169 2019.09.04 XNEzea 7h @l - - - - Hhyx EXIN7HF-S A 100,000
170 2019.09.09 HXE= A= 7h @l - - - - Sxx HIZE=-)F 10,000
171 2019.09.09 HXE= A= 7h @l - - - - Sxx HIZE=-)F 10,000
172 2019.09.09 HXE= A= 7h @l - - - - Sxx HIZE=-)F 10,000
173 2019.09.10 HXE= A= 7h @l - - - - 0|xx HXIE= = 10,000
174 2019.09.11 HXH= A= 7R @l O|xx HXIE= = 10,000
175 2019.09.17 NE=8= - - - - x| xx A HS S A LB 2 A2 500,000
176 2019.09.20 HXEZ A= 7R ¢l - - - - 0|xx HXIE= = 10,000
177 2019.09.25 HXEZAd= 7h @l - - - - Alxx HXIEZ= = 20,000
178 2019.09.26 HXEZAd= k! - - - - 2xx HXIEZ= = 20,000
179 2019.09.27 HXEZAd= 7h @l - - - - ZXX HXIEZ= = 50,000
180 2019.09.27 HXIEZd= 74l - - - - AUxx HXIEZ= = 10,000




181 2019.09.27 HIX|E2 = Bhxx HX|E2 = 10,000
182 2019.09.29 NE8=da Ofl xxx ST MY LR A 260
183 2019.09.29 NEz== Ollxoex BRIt F S A 3,790
184 2019.09.29 NEz== Ollxoex R AF-Z AKX HA 240
185 2019.09.30 HIXEZ 7h ol Axx HIXIEZ 2 50,000
186 2019.10.02 HXE=2 Jhel Olxx HIXE=dF 30,000
187 2019.10.02 HXE2 = 742l Lxx HXE2 = 20,000
188 2019.10.10 HXE=2 Jpel O|xx HIXE=dF 10,000
189 2019.10.10 HXE=2 Jpel Sxx HIXE=dF 10,000
190 2019.10.10 HXE=2 Jpel Sxx HIXE=dF 10,000
191 2019.10.10 HXEZ= A= Jpel Sxx HIXE=dF 10,000
192 2019.10.10 HX| == LExxxxxx HX| =)= 300,000
193 2019.10.10 HIX|E2 = Chxxx HIX|E=2 =3 400,000
194 2019.10.11 HIX|E2 = Olxx HXE= = 10,000
195 2019.10.15 ANHz= %|xx KHEAZ- MY 2zt Af 2t 500,000
196 2019.10.17 HXH= = k! ol HXE= = 690,800
197 2019.10.21 HXH= = 742l 0|xx HXIE= = 10,000
198 2019.10.24 HIX|E2 = 742l Mxx HIX|E2 a3 20,000
199 2019.10.25 HXH= = 742l 2lxx HXIE= = 20,000
200 2019.10.28 HXH= = 742l AUxx HXIE= = 50,000
201 2019.10.28 NE2d= 742l Olxx EXIN 7t S-S AE 100,000
202 2019.10.30 HXH= = 742l AUxx HXIE= = 10,000
203 2019.10.30 HXE= A= 7h @l Bhxx HXIE= = 10,000
204 2019.10.30 HXE= A= 7h @l 0|xx HXIE= = 30,000
205 2019.10.30 XNE=d= 7h ¢l AUxx EXIN7HF-S A 50,000
206 2019.10.30 XNE=d= 7h ¢l AUxx EXIN7HF-S A 100,000
207 2019.10.30 XNEzea 7h @l M xx EXIN7HF-S A 100,000
208 2019.11.01 XNEzea 7h @l Z|xx EXIN7HF-S A 100,000
209 2019.11.04 HXE= A= 7h ¢l Zxx HXIE= = 20,000
210 2019.11.07 HIZ|ES/F k! Sxx HXIE= = 10,000
211 2019.11.07 HXE= A= 7h @l Sxx HXIE= = 10,000
212 2019.11.07 HXH= A= 7R @l Sxx HXIE= = 10,000
213 2019.11.11 NE8zda |xx Mo MU ZE Tz = M2 500,000
214 2019.11.11 HIZ|ES2-F k! O|xx HXIE= = 10,000
215 2019.11.11 HIZ|E=/F k! O[xx HXIEZ= = 10,000
216 2019.11.20 HIZ|E=/F k! O[xx HXIEZ= = 10,000
217 2019.11.25 HXEZAd= 7h @l Qxx HXIEZ= = 20,000
218 2019.11.25 HXIEZd= 7h el Alxx HXIEZ= = 20,000




219 2019.11.27 HIX|E2 = 742l - - - - Axx HX|E2 = 10,000
220 2019.11.27 HIX|E2 = 742l - - - - Bhxx HXE2 = 10,000
221 2019.11.28 HXE2 = 742l - - - - Lxx HXE2 = 50,000
222 2019.12.02 HXE2 = 742l - - - - O|xx HXE= = 30,000
223 2019.12.02 HXE2 = 742l - - - - Lxx HXE2 = 20,000
224 2019.12.09 HXEZ= A= 7h ol - - - - Sxx HIXE=dF 10,000
225 2019.12.09 HXEZ= A= il - - - - Sxx HIXE=dF 10,000
226 2019.12.09 HXEZ= A= il - - - - Sxx HIXE=dF 10,000
227 2019.12.10 NE== - - - - |xx A HS S AN R A2 500,000
228 2019.12.10 HXEZ= A= 7h @l - - - - Bhxx H| 3|l HIXE=dF 1,000
229 2019.12.10 HXEZ= A= il - - - - O|xx HIXE=dF 10,000
230 2019.12.11 HXEZ= A= 7l - - - - Olxx HXE=dF 10,000
231 2019.12.18 NE=ea m| - - - - Kxxxxxxx | A 'S@ZAS-Z A X &AL 5,000,000
232 2019.12.24 HXH= = 742l - - - - 2lxx HXE= = 20,000
233 2019.12.26 HIX|E2 = 742l - - - - Mxx HIX|E=2 =3 20,000
234 2019.12.26 HIX|E2 = 742l - - - - 0|xx HXE= = 10,000
235 2019.12.29 NE=ea - - - - - Ofl xxx ANEzdS-MA 2T HE oA 150
236 2019.12.29 NE=ea - - - - - Ol xxx XY AF-BHLACNE SFE2 A 590
237 2019.12.29 NE8zda - - - - - Off xxx EXIN 7t S-S AE 1,630
238 2019.12.29 NE=z=8= - - - - - Oxxx |[XEZzS-BE35223 1,670
239 2019.12.29 HIX|E2 = - - - - - Off xxx HXIE= = 2,000
240 2019.12.29 NE=z=8= - - - - - Ollxxx  |MEzaZ-s=+mtAS A AHRA 1,400
241 2019.12.29 XNE=d= - - - - - Ol xxx A E2dF-S X AALY 300
242 2019.12.29 X|7§‘,|_'é,1—°L.IE,L - - - - - 01|XXX ANEZAF-KTRGUHESE Eoiralgstt 430
243 2019.12.30 HXE= A= 7h ¢l - - - - Zxx HXIE= = 50,000
244 2019.12.30 HXE= A= k! - - - - AUxx HXIE= = 10,000
245 2019.12.30 HIX|E2 = 7h el - - - - Bhxx HXE2 = 10,000




